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_Sc.7 B.A. (Part-II) MATHEMATICS, 2014
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AR 1. quaameﬁrqﬁw@ﬁaﬁﬁm
. Define forward and backward differences. .
2. TG SR & RO ST 1 ST e o feerd |

Write Lagrange's interpolation formula for unequal intervals.
3, Qg Taban 4 R E“nliGIQ | Wlth usual notations, prove that

'ByUfyz 3y1+3yo Y-
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|/ B. Sc. (Part IT) MATHEMATICS .
4. TG it 2 WA A g e | -
| Write a General Quadrature Formula for equidistant ordinates. |
5. e o Tl @ W BRI | Solve the following difference
:quation: y.,,—8y., +15y =0. : - ; -
6. el T STt T o o RN |
‘Define Algebric and Transcendental Equation. |
7.%3_%_%%&@@@@@%%@%@@'%% |
Prove that intersection of two convex sets is alsoa convex set. '
8. e T T o T e e | -
Write mathematical formulation of linear programming problems. B
9. AT R 1 TRAARR T | Define slack variables. © |
10, ZAT 9 U HT R & ? What doyoumean be Duality ? ~ |
m—aﬁlﬁ-l.l.ﬁ@mz Provethat: | # |

; A sin (x +h)
Esin(x+h)

E

L sin (x+h)+

=2 (cosh=1)[sin(x+h)+ 1]. | ‘
| aTear / OR
2. Fir= Enfell | e o S S i | ~
“ Find the form of the function given by the following tabie 4
' x : 3 2 1 —1
fx): 3 12 15 21
wé—n.&aﬁeﬁ@ww%éﬁﬂmﬁmmqﬁm:

Tfthird differences are constant then by Bessel's formula prove that::

: , i | 2 2
Y =-—12- YorY o)~ T (A YA Y- j argar /OR
4.W@Hﬁmaﬁﬁfﬁﬁwmm| :

State and prove Trapezoidal Rule.. | :
A '3$|§-_IH.S.?:;Evfﬁﬁiﬂ:Prove:that:yx+2 —4y =2, - 3gar / OR
| 6.?@@%%&:&1% x“—x‘—lOzosz_%aﬁmv@?ﬂwsmaawﬁazs
By using Newton-Raphson method, find the root of X' =x —10 =0,
which is nearer to x =2, correct to three places of decimals. :
gﬂé—Wﬂ.uﬁﬁ?ﬁWﬁﬁﬁ‘?www% :
Show that the following setisaconvexset: . . :
S= {'XZX:(X'.:XQ,Xs)s )(12_‘")(22'{;)(32S 1} - ‘ 3gar / OR
s.mmmmaﬁ@mmawm« | |
Solve the following L.P.P.by graphical method :
. arfeepad Biie (Max.) z=3x+ Sy ' -

e, (st x+2y<2000
% i x+y <1500
_ - y<600

am(anfl) ? x20, yz0
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B. Sc. (Part II) MATHEMATICS /15
RV, 9. T LPPa e iy 3 & HIfoT 2
Solve the following LPP by Simplex method :
(Max.)z=-2x, +x,

S, (s:t) X, -X,<10
o 2x,+x,<40 _
W(and) ' X, %, 20, - &gar /OR
10. 797 LPP &t & e (DP) s 2y - |

Find the Dual Problem (DP) of the following LPP:
7 FHhifeTe (Max.)z =x,+3x,

gl (s, t) 3%, +2x,<6
| et 3x,+x,=4
qYT (and) X, X, > 0.
-8 1. (a) = T Prove that:
2 3
Hlx‘*“zxzﬂlgx“#...:l_ixU’ +(1i(x)2 Ap, + 1'_)(—)()3 Ap, +
(b) @5 faam

T (0, 1), (1,3), (2, 7) & (3,13) § ol ¥ | q5 &
FINTT | A second degree polynomial passes through (0, 1), (1, 3), (2, 7) and
(3, 13). Find the polynomial. '

2.(a)ﬂm%maﬁﬁsm§ﬂ%wgmf(BZ)wﬁmmﬁsﬁmgaﬂ% :
Use Gauss's forward interpolation formula to find f(32), given that : f(25)=
- 10.2707, f(30)=0.3027, (35)=0.3386, f(40) = 0.3794. .

(b) G BIFTT : Prove that ;
'. {) ux dx = %(Sul b 8u,2 1)
T (Approximately). .

3. () v feafer TR TRy ST 3~ 2 — 5 = 0 %1 s g sy i

Using method of false position, find the real root of the equation
| X' —2x-5=0.
(b)‘é'"q?r?{?ri?sﬂlq : Solve u,_,=2ux 1’i —ux’. i}
4.3 Ao x, 3R x,3 g frer s RA A Y
The data for two foods x, and x, are given below :

‘ “(Per Unit) . :
: R X, Min. Requirement
Price 60qq 219 .
Calories 1000 2000 3000
Proteins . 257M 1003 10077y

< X 27 P T ¥ LPP T TR seer s e ey @

& #ITC | Formulate the LPP for minimizing expenditure on food and solve
graphically. | |

5. F=1 LPP it fervaci ol & et oty -
Solve the following LPP by Simplex method :
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16/ B. Se. (Part II) MATHEMATICS'
ST N (Max.)z=— 2x,+x,

i, (s 3%+, =3

4x,+3x,2>6
X, +2x2_§4

_ T (and) XX, > 0.
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